
DAILY BASIS  ASSIGNMENT 

Date:24.04.2020       Class: VI                         Day: Friday 

 

 Subject : English 

 

                                             MULTIPLE CHOICE QUESTIONS 

 

     From the given alternatives, select the most appropriate choice : 

 

 1. A foolish friend/ a wise enemy/is/ better than. 

(a) A foolish friend is better than a wise enemy. 

(b) A wise enemy is better than a foolish friend. 

(c) Better than a foolish friend is a wise enemy. 

(d) None of these. 

2.  A large ---------------- is expected. 

(a) crowds                                             (b) animal 

(c) crowd                                                (d) ant 

3. This pair of ------------- is good. 

(a) pen                                                    (b) eggs 

(c) shoe                                                   (d) shoes 

4.   -------------------  means a large number of ships. 

(a) Crew                                                  (b) jury 

(c) fleet                                                   (d) cantonment 

5.  Lend me your pen, please. 

(a) Exclamatory Sentence                   (b) Imperative Sentence 

(c) Interrogative Sentence                  (d) Declarative Sentence     

 

 

 



Subject - Maths 

Date & Day:- 24/04/2020, Friday 

 

1. Which of the following statement is false? 

 

A. 200 is the predecessor of 199 

       B. Zero is the smallest whole number 

       C. 500 is the successor of 499 

       D. 1 is smallest natural number. 

     

    2.  What is the correct sign for this? 

      430 ___ 403 

       A. > 

       B. < 

       C. = 

       D. <= 

     

  3. Which of the following will not represent zero? 

A.  1 + 0 

      B.  0 × 0 

      C.  0/11 

      D.  (110-110)/2 

  

    4.  If x is a whole number such that x+x = x, then x=? 

A. 2 

B. 3 

C. 1 

D. 0 

  

  5.  The smallest even whole number is 

A. 1 

B. 0 

C. 2 



D. 4 

Subject – S. S. T 

 

1 . The period of History  when human  did not know to write 

a) History        b) Prehistory      c) Medieval history            d) Modern history  

 

2 . Which of the following is not an example of an archaeological source?     

a) fossils           b) jewellery         c)manuscript                 d)coins  

 

3 . Which of the following is a literary source? 

a) Coins b) objects     c) biographies d) artefacts 

 

4 . Banabhatta is the author  of  

a) Arthashastra  b) Harshacharita      c) Indika           d) Kalahana 

 

5 . Records based on personal experience and opinions of the speaker 

a) History            b) Pre history              c) Oral history              d) modern history 

 

Subject: Physics 

 

 

1. In periodic motion ,the objects repeats itself after 

a) very small period of time  b)a large period of time 

b) same period of time  d) infinite period of time 

 

2. In rotational motion the object moves 

a) around a fixed axis or about a fixed axis 

b) in a straight line 

c) in a perpendicular line 

d) in a vertical line 

3. Any quantity which we measure in the study of physics is called 

a) natural quantity b) chemical quantity c) physical quantity d) measurable quantity 

4. The most appropriate unit to measure the size of bacteria is 

a) micron  b) angstrom c) millimetre d) centimetre 

5. The most appropriate unit to measure the distance of stars from the earth is 

a) light year b) kilometre c) hectometre d) metre 



 

 

   Subject: -Chemistry                                  

                                   Multiple Choice Question (MCQ)  

1. An example of lustrous material is-  

(a) Paper  

(b) Wood  

(c) Metal coin  

(d) Jute  

  

2. A gas that is insoluble in water is-  

(a) Oxygen  

(b) Nitrogen    

(c) Carbon dioxide  

(d) All of them  

  

3. Lemon juice  

(a) in soluble in water  

(b) is insoluble in water   

(c) floats on water  

(d) sinks in water  

  

4. No light can pass through (a)  Transparent objects   

(b) Translucent objects  

(c) Opaque objects  

(d) All of there  

  

5. An example of a strong substance is-  

(a) Sponge  

(b) Diamond   

(c) Cotton  

(d) Paper 

 

 



 

 

Subject: Biology 

Multiple choice questions :  

1. Which one of the following is not a stem of its parent plant?  

a) Ginger     b) potato      c) sweet potato      d) onion  

2. One of the following plants has two parts which can be eaten as food. This plant is :  

a) Wheat     b)maize        c) mustard       d) Bengal gram  

3. Which one of the following are not used for making sprouts in our homes?  

a) moong     b) moth      c) makka           d) chana   

4. Which term in the following includes the other three?  

a) Kingfisher        b) Dragonfly     c) Carnivore       d) Snake  

5. The rearing of honeybees for honey is called   

a) apiculture         b) sericulture       c) agriculture      d) pisciculture  

  

 

 

Subject : Computer 

Multiple choice questions (select the correct one):-   

1. Assembly Languages were developed in _______ .  

a) 1950s   

b) 1905s         

c) 1970s         

d) None of these 

 

2. Fifth generation Languages are designed to make computer _________. 

a) Slower   

b) Smarter         

c) Complex         

d) None of these 

 

3. Which language is already available for Microcomputers include Clout, Q&A, 

and Savvy Retriever? 

a) Assembly Language    

b) Machine Language 

c) Natural Language         

d) None of these 

 

4. Which generation languages are named as non-procedural languages? 

a) 4th generation Language    

b) 3rd generation Language   



c) 5th generation Language    

d) None of these 

 

5. Which one from the following is used with Database?  

a) Clout    

b) Q&A 

c) Savvy Retriever         

d) None of these 
 

 

 



                             fgUnh fu;r dk;Z ---5 

   fnukad%24-04-20                                    d{kk% 6 

   iz’u% fn, x, iz’uksa ds lgh fodYi pqusa%& 

       1½ i= ds fdrus izk:i gSa\ 

        d½ nks          [k½ rhu         x½ pkj        ?k½ ,d 

       2½ ^ nky esa dkyk gksuk^ dk D;k vFkZ gS\ 

        d½ yfTTkr gksuk   [k½ lansg gksuk  x½ rax djuk  ?k½ gjkuk 

       3½ ’kqn~/k ’kCn ij lgh dk fu’kku yxkvks A 

         d½ fuf’pr       [k½ fu’hpr     x½ fu’kfpr   ?k½ fu’pr 

       4½ ^nksLr ^ dk foykse ’kCn D;k gS\  

         d½ l[kk         [k½ fe=         x½ nq’eu    ?k½ foiz 

       5½ laKk ds eq[;r% fdrus Hksn gS\ 

         d½ nks           [k½ rhu         x½ pkj      ?k½ Ng 

 

          --------------------------------------------------------------------------------------------------- 

 



               laLd`r fu;r dk;Z &&5       

 d{kk-6                                                   fnukad &24&4&2020 

fn, x, fodYiksa esa ls lgh fodYi pqudj fy[ksa && 

iz”u 1 v”o%     v”okS         &&&&& 

      1)v”os    2)v”ok%    3)v”oe~    4)v”o  

iz”u 2 lk     &&&      rk% 

      1)rkS      2)rs       3)rkfu     4)re~  

iz”u 3 Nk=% dk L=hfyax :Ik gksxk & 

      1)Nk=e~   2)Nk=s     3)Nk=kS     4)Nk=k  

iz”u 4 ckfydk% &&&&&& 

      1)u`R;fr   2)u`R;fl  3)u`R;fUr    4)u`R;kfe  

iz”u 5 o`{kkr~  i=e~    &&&&& 

      1)irfr    2)irfl   3)irkfe     4)irfUr 

 


